[S~- Havssldule — Sepke: 244

brt) ) PCAIL12)  2(314l1-2) , 0F'- D2+ P2
)P = (3) ( Z) (2)+(3) ) pi(slel-¢
T A AT )] "(66) ; 2 :
b) P/(11418) 2(4193) . Gp- 02+ PR
- (1) (222)- (3 (1)
OP=1{ 12|+ -1 )= 4 , .
(3 ,23_8) 2 (3) P.(él3)z).

3
€) RCHNISY PCRIRIE) 2 1ok o Micllot plombt dos

Shrecke PP’
e 1+4 s
7%

vi
5‘+°J

/1(31&' 6)

/Vr.z) E Z><4+3x1—-5x3 '/0/
0 %= )+ . s fF
e T (-35) ;qnE={FS
2.(3 +26)+3:(4+3¢)-5(-€-5¢)=10

£osbt AP EGLE +FOFVSE = AO
48 2858t =M |-4%
384 = - 38
-4 =>t,‘ = 2-(-1) -8

¢
52’ (2) 2)(~4)7A(4121+‘/
3 = =
b) ACGl8l m)',.—i"é')' (2 e
4 %(5 +z_§,), g nE={F]

2 b + It ) A IR E)- S i ) = T

12+4¢t + 24 +9¢ +50 +25¢ = 70
&6 +38¢ = 70
- g =2 /'4,:2-('2)?'4

e =76
—> 6 ? -2 %8
0A'= (9)—4<3 )=—4 > A'(-21-4]|40)
' 5 - 45’ '
() 2 ( 131 ) Fa



